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SECTION A — (10 × 2 = 20 marks)

Answer ALL questions.

1. What do you meant by over capitalization?

2. What is pay- back period?

3. What is cost of capital?

4. What is financial leverage?

5. What do you meant by capital structure?

6. A project has an initial investment of `2,00,000. It will produce cash flows after tax of ` 50,000 p.a. for six years. Compute the pay back period for the project.

7. A firm issue 10% debentures of `1,00,000 and realizes `98,000 after allowing 2% commission to brokers. The debentures are due for maturity at the end of 10th year at par. Calculate cost of debt before tax.

8. Calculate operating leverage from the following information:
Sales 


1,50,000

Variable Cost  

1,00,000

EBIT   


   30,000

10% Public debt
 
1,00,000

9. Calculate average collection period of debtors in days from the following information :
Debtors 

 
9,000


Bills Receivable 
2,000 

Credit sales 
       80,000 

Sales return 


7,000


10. Compute market price under the walter’s model

EPS


 – 10

IRR 


– 18% 

Cost of capital 
– 20% 

Pay out ratio 
– 40%

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

11. Explain the objectives of financial management.
12. Explain the determinants of working capital.

13. From the following information calculate i) operating cycle ii) Average working capital

Annual cash operating expenses
 - 150 lakh;

Stock holding:

Raw material 



2 months

WIP





15 days

Finished goods 



1 month

Average debt collection period 

2 months

Average payment period 


45 days

Number of operating days in a year
360 

14. X ltd has a total sales revenue of ` 120 Lakh a year, of which 75% are credit sales. The firm has an investment opportunity in the money market to earn return of 18% p.a. If the firm could reduce its float by 3 days, what would be the annual saving for it?

15. Y Ltd., has 40,000 shares outstanding. The current market price of these shares is ` 15 each` The board of directors of the company has recommended ` 2 per share as dividend. The rate of capitalization appropriate to the risk class to which the company  belongs is 20%.  Based on MM approach calculate the market price of the share  

a) when dividend distributed 

b) when dividend not declared.

16. Compute the operating, financial and combined leverages from the given data;

Operating leverage 

1.5

Fixed cost


 `3,00,000

Debt



 `25 lakh @ 10% 

17. Zodiac Ltd., is considering two plans to finance a project costing ` 50 lakh The details are

Plan I


Plan II

Equity share capital @ 100 per share

20 lakh


25 lakh

12% debentures





30 lakh


25 lakh



Sales for the year of operations are projected at ` 120 lakhs, EBIT  is expected to be 15% of sales. Corporate tax is 35%. Calculate EPS for both the plan.

18. The following information relate to  Radion Ltd. 

Risk free return is 12 %

Beta co-efficient  of the company is 1.75

Expected Market rate of return  is 5%

Compute the cost of equity capital using CAPM

SECTION C — (2 × 15 = 30 marks)

         Q.No. 19 is compulsory and answer any ONE from the rest of two questions.

          Case Study (Compulsory)

19. X Ltd is considering the  purchase of a new machine to replace a machine which has been in operation in the factory for the last 5 years.

The following are the details:

Purchase price



40,000

60,000

Estimated life of machine  

10 yrs

10 yrs

Machine running hours

2,000

2,000

Units per hour



24


36

Wages per running hour

3


5.25

Power per annum


2,000

4,500

Consumable stores p.a

6,000

7,500

All other charges


8,000

9,000

Material p.u



0.5


0.5

Selling price per unit


1.25


1.25

You may assume that the above information regarding sales and cost of sales will hold good throughout the economic life of each of the machines. Depreciation has to be charged according to SLM. Ignoring interest but considering tax at 50% of net earnings, Calculate ARR and suggest which of the two alternatives should be preferred.

20. A company was recently formed to manufacture a new product. It has the following capital structure:

9% debentures 



10,00,000
7% preference shares


  4,00,000

Equity shares (`48000 shares)
16,00,000 

Retained earnings 


10,00,000









40,00,000




The market price of equity share is `80. A dividend of `8 per share is proposed. The company has marginal tax rate of 50% and shareholders’ individual tax rate is 25%. Compute after tax weighted average cost of capital of the company.

21. The cost of capital and the rate of return on investment of Raju Ltd. are 10% and 18% respectively. The company has 5 lakh equity shares of ` 10 each outstanding and earning per share are ` 20. Compute the market price per share and value of the firm in the following situations. Use walter model and comment on the results 

i. No Retention

ii. 40% Retention

iii. 80% Retention

_______________
[P.T.O.]
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